
 

:: Calabasas, CA 91302 USA  ::   

G-wagenaccessories.com 

 

 

 
 

Side Utility Rack / Water Tank Installation Manual 

 

 
Exclusively for Mercedes‐Benz W460 W461 W463 Geländewagen from 1979 to 2018 
 
 
 
 
 
 
 
 

 
 

 

 

 

 

 

 

 

 



 

:: Calabasas, CA 91302 USA  ::   

G-wagenaccessories.com 

 

 

 

 

 
 

 

 

Mounting Parts Lists 

 

1. Holding Bar 

2. Foam Pad 

3. Locking Bar 

4. M6 Flat Head Bolts (4 pcs.), stainless steel 

5. M6 Pan Head Bolts (3 pcs.) , stainless steel 

6. Washer M6 (3 pcs.) , stainless steel 

7. Velco Strip (23"x 1") 

 

Additional Parts for the Water Tank 
 
       8.  Filler Cap OEM Mercedes 
       9.  1/2" NPT Plug stainless steel 
     10.  Water Faucet (not shown) 
 
 

 
 
 



 

:: Calabasas, CA 91302 USA  ::   

G-wagenaccessories.com 

 
Preparation for the installation:  
 

• After un‐packing the Utility Rack or Water Tank, fasten the holding bar (1) with the four M6 flat 
head bolts to the top section of the mounting area, creating a rain gutter hook. 

• Carefully take the Utility Rack or Water Tank and hook it into the rain gutter at the right or left side 
of your G‐wagen. Move it into the position of your liking and mark the gutter on both sides with 
blue masking tape. Make sure the tank filler door of the vehicle is not obstructed (W463’s). 

• Remove the Utility Rack or Water Tank from the gutter. 
 

 
 
 

Installation of the Baja Rack or Water tank 
 

• Loosen the four M6 Flat‐Head screws on the top of the Utility Rack or Water Tank approximately by 
5mm but do not unscrew them completely. 

•  Fold and form the included foam protection pad into a “S” shape and slip it over the rain gutter 
between the two markers (blue masking tape).  

• Insert the Utility Rack or Water Tank now carefully with its “Gutter Hook” into the open fold of the 
protection pad and pull the rack downwards into the gutter. 

 

 



 

:: Calabasas, CA 91302 USA  ::   

G-wagenaccessories.com 

 
 
 

• If the rack is in the correct position and sits tightly down in the gutter fasten the four M6 Flat Head 
screws of the hook bar lightly. 

• Position now the clamping bar from behind with the foam side facing against the rain gutter and 
insert the three M6 Pan‐Head bolts together with the three 6mm washers. 

• Tighten these bolts while pushing the clamping bar upwards against the underside of the rain 
gutter. The use of a small screwdriver or similar tool as a lever might be necessary to clamp the 
Utility Rack or Water Tank securely onto the gutter.  

• Fasten now the top four M6 Flat‐Head screws completely. 
• Clean the existing quarter panel molding and install the self‐adhesive Velcro onto the molding 

behind the Utility Rack or Water Tank. 
• Match that position and install the other self-adhesive side on the backside of the Utility Rack or 

Water Tank. 
• Locking the Velcro strips together completes the Utility Rack or Water Tank installation. 

 
 
 

  
 
 
 
 

For installation questions please contact: Customer Service 
 
 
 
 
 
 

 
 

mailto:gwagenaccessories@gmail.com
http://www.g-wagenaccessories.com/

